HHERE T —IUF LEFDHE IR
ZE-NFEHEAR) B ZE -/ \FE(EHETZRH)ERBFLR #

B¢

D HEERRR
“Z2—hIE—HENA) H
DHEE —E—/FE ZB-N\FE ITEBENE |ZB-)/\EECAFE+ZHHE
(—AZxA) EAZ+ZH (—HZEXH) B %
E—Eiy AERETEE
1. 4EpEEE=x 1311 1597 1331 - 266 -16.7%
(B ZE=R) 48.0% 38.6% 40.1% +1. 516 5 1748
2. BIOEXE 237 256 205 - 51 - 199%
(A=) 73.4% 61.7% 64.9% +3.2E B 785
EELy FREE
3. RBEHE . 1 1 0 0.0%
4. 1BEEE 23 34 24 - 10 - 294%
5. BAREBEERIT 115 111 73 - 38 -342%
6. BEFMLIET 17 16 16 0 0.0%
7. BEE B
-8 B 2 - 2 + 2 NA
- 988 (FTrE) 4 6 6 0 0.0%
- [EAREEE 234 228 186 -2 - 184%
- HNEEE 4 17 20 + 3 +17.6%
- HUEEEE 200 252 233 - 19 -75%
-k H 8 6 11 + 5 +83.3%
- HERH 36 60 46 - 14 -23.3%
- BE/IZEEE 16 33 28 -5 -152%
8. &F ER 240 361 262 - 99 -274%
9. Z=EGHmMIEE 35 32 15 - 17 -53.1%
10. ZHEBRIEH 63 63 52 - 16 -23.5%
1.  JEIREmHAR 0 N/A
- DEBRGE+FBR) 32 14 26 + 12 +85.7%
- FEREEASEZTR) 66 44 41 -3 -6.8%
- WHEIEEARE 3 4 4 0 0.0%
- iR 30 33 30 -3 -91%
FE= EAAERETEE
12. =R 136 162 148 -4 -86%
13. [REREIEIET 2 1 1 0 0.0%

L  # WAEER & LFEREERAHEER S EEEEAY- UK FEERY 14
FETRNAHEERE LAHERFEREEERTHR -

SRIEE » REAVTER

* HREBRGHETRREENRERRY  filEFNEEB TSN R ENREEREFIAERH -




